
FINAL ANSWER KEY

Paper: 076 - Book-keeping and Accountancy State Audit
Date of Test 06-05-2024

Question1:-___________ is presenting of the classified data in a way which is understandable and useful to the internal as well as external users.
___________ എ�ത് ആ�രിക�ം ബാഹ��മായ ഉപേയാ�ാ�ൾ�് മന�ിലാ�ാ���ം ഉപേയാഗ�ദ�മായ രീതിയിൽ �ാസിൈഫഡ് ഡാ� അവതരി�ി��.
        A:-Classifying
വർ�ീകരണം
        B:-Summarising
സം�ഹം
        C:-Analysing
വിശകലനം െച��
        D:-Interpretation
വ�ാഖ�ാനം
        Correct Answer:- Option-B
Question2:-Which among the following is an odd one?
താെഴ�റ��വയിൽ വിചി�മായത് ഏതാണ്?
        A:-Payment of wages to employees
ജീവന�ാർ�് േവതനം നൽകൽ
        B:-Sale of goods to a customer
ഒ� ഉപേഭാ�ാവിന് സാധന��െട വിൽ�ന
        C:-Receipt of income by way of commission
ക�ീഷൻ വഴി�� വ�മാനം
        D:-Supply of stationary items to office
ഓഫീസിേല�് േ�ഷനറി സാധന��െട വിതരണം
        Correct Answer:- Option-D
Question3:-After ________ of economic events, they are recorded in Financial Books in a chronological order and systematic manner.
________ സാ��ിക സംഭവ�ൾ�് േശഷം, അവ കാല�മ�ി�ം ചി�യായ രീതിയി�ം ഫിനാൻഷ�ൽ ��കളിൽ േരഖെ���ിയി��്.
        A:-Identification and analyzing
തിരി�റിയ�ം വിശകലന�ം
        B:-Identification and interpreting
തിരി�റിയ�ം വ�ാഖ�ാന�ം
        C:-Identification and measurement
തിരി�റിയ�ം അള�ം
        D:-Analyzing and interpreting
വിശകലന�ം വ�ാഖ�ാന�ം
        Correct Answer:- Option-C
Question4:-Which among the following is/are incorrect?
(i)     Accounting serves as a historical record
(ii)    Accounting supplies information to all those who are interested in the business
(iii)   Accounting provides information about product wise and activity wise
(iv)   Accounting records shows the real value which may vary from time to time

താെഴ�റ��വയിൽ ഏതാണ് െത�്?
(i)   അെ�ൗ�ിംഗ് ഒ� ചരി�േരഖയായി വർ�ി��
(ii)  ബിസിനസിൽ താൽ�ര��� എ�ാവർ�ം അെ�ൗ�ിംഗ് വിവര�ൾ നൽ��
(iii) അെ�ൗ�ിംഗ് ഉൽ��ം തിരി���ം ആ�ിവി�ി തിരി���മായ വിവര�ൾ നൽ��
(iv) അെ�ൗ�ിംഗ് േരഖകൾ യഥാർ� �ല�ം കാണി��, അത് കാലാകാല�ളിൽ വ�ത�ാസെ�ടാം
        A:-(iii) and (iv)
(iii) ഉം (iv) ഉം
        B:-(i) and (ii)
(i) ഉം (ii) ഉം
        C:-(i) and (iii)
(i) ഉം (iii) ഉം
        D:-All of these
ഇവെയ�ാം
        Correct Answer:- Option-A
Question5:-The three components of Balance Sheet are
ബാലൻസ് ഷീ�ിൻെറ ��് ഘടക�ളാണ്
        A:-Assets, Liabilities and Profit
ആ�ികൾ, ബാധ�തകൾ, ലാഭം
        B:-Assets, Liabilities and Capital
ആ�ികൾ, ബാധ�തകൾ, �ലധനം
        C:-Assets, Liabilities and Debts
ആ�ികൾ, ബാധ�തകൾ, കട�ൾ
        D:-None of these
ഇെതാ�മ�
        Correct Answer:- Option-B
Question6:-Find out the odd one from the following.
താെഴ പറ��വയിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Machinery, goodwill, mines, trade marks
െമഷിനറി, �ഡ�ിൽ, ഖനികൾ, വ�ാപാര��കൾ
        B:-Goodwill, mines, building, vehicles
�ഡ�ിൽ, ഖനികൾ, െക�ിടം, വാഹന�ൾ
        C:-Land, furniture, trade marks, goodwill
�മി, ഫർണി��കൾ, വ�ാപാര��കൾ, �ഡ�ിൽ
        D:-Land, building, furniture, machinery
�മി, െക�ിടം, ഫർണി�ർ, യ��ൾ
        Correct Answer:- Option-D
Question7:-Excess of current assets over current liabilities is called _________
നിലവിെല ബാധ�തകേള�ാൾ നിലവി�� ആ�ിക�െട അധികെ� _________ എ�് വിളി��
        A:-Stock
േ�ാ�്
        B:-Working capital
�വർ�ന �ലധനം
        C:-Profit
ലാഭം
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        D:-Owners equity
ഉടമക�െട ഇക�ി�ി
        Correct Answer:- Option-B
Question8:-Which among the following is/are correct?
(i)     Loss is the gross decrease in the assets or gross increase in the liabilities
(ii)    Loss is the excess of expenses over revenues
(iii)   Loss represents reduction in Owner's equity

താെഴ�റ��വയിൽ ഏതാണ് ശരി?
(i)   ആ�ികളിെല െമാ��ി�� �റവ് അെ��ിൽ ബാധ�തകളിെല െമാ��ി�� വർ�നവാണ് ന�ം
(ii)  വ�മാനേ��ാൾ െചല�ക�െട ആധിക�മാണ് ന�ം
(iii) ന�ം ഉടമ�െട ഇക�ി�ിയിെല �റവിെന �തിനിധീകരി��
        A:-All of these
ഇവെയ�ാം
        B:-(i) only
(i) മാ�ം
        C:-(i) and (ii) only
(i) ഉം (ii) ഉം മാ�ം
        D:-(ii) and (iii) only
(ii) ഉം (iii) ഉം മാ�ം
        Correct Answer:- Option-A
Question9:-__________ is prepared at the end of the period to show the financial position of the Business.
ബിസിന�ിൻെറ സാ��ിക�ിതി കാണി��തിന് കാലയളവിൻെറ അവസാന�ിൽ __________ ത�ാറാ��.
        A:-Profit and Loss account
ലാഭന� അെ�ൗ�്
        B:-Trial Balance
�യൽ ബാലൻസ്
        C:-Balance Sheet
ബാലൻസ് ഷീ�്
        D:-Fund Flow Statement
ഫ�് േ�ാ േ��്െമൻറ്
        Correct Answer:- Option-C
Question10:-A person who owes money to the business is
ബിസിന�ിൽ പണം കടെ��ിരി�� ഒ� വ��ിയാണ്
        A:-Creditor
െ�ഡി�ർ
        B:-Investor
നിേ�പകൻ
        C:-Debtor
കട�ാരൻ
        D:-Owner
ഉടമ
        Correct Answer:- Option-C
Question11:-Trace out the odd one from the following.
താെഴ�റ��തിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Depreciation of fixed assets
�ിര ആ�ിക�െട �ല��കർ�
        B:-Maintenance expenses of vehicles
വാഹന��െട പരിപാലന െചലവ്
        C:-Payment of salaries and wages
ശ�ള�ം േവതന�ം
        D:-Expenditure incurred for raising long term capital
ദീർഘകാല �ലധനം സമാഹരി��തിന് േവ�ി�� െചലവ്
        Correct Answer:- Option-D
Question12:-Trace out the odd one from the following.
താെഴ�റ��തിൽ നി�് വിചി�മായത് കെ��ക.

        A:-Govt, Creditors, Owners, Management
സർ�ാർ, കട�ാർ, ഉടമകൾ, മാേനജ്െമൻറ്
        B:-Management, Owners, Investors, Customers
മാേനജ്െമൻറ്, ഉടമകൾ, നിേ�പകർ, ഉപേഭാ�ാ�ൾ
        C:-Owners, Creditors, Bankers, Investors
ഉടമകൾ, കട�ാർ, ബാ�ർമാർ, നിേ�പകർ
        D:-Investors, Govt, Customers, Bankers
നിേ�പകർ, സർ�ാർ, ഉപേഭാ�ാ�ൾ, ബാ�ർമാർ
        Correct Answer:- Option-D
Question13:-'Copy Right' is __________
'പകർ�വകാശം' __________ ആണ്
        A:-Current Asset
നിലവിെല അസ�്
        B:-Intangible Asset
അ�ശ�മായ അസ�്
        C:-Fixed Liability
നി�ിത ബാധ�ത
        D:-Long term Liability
ദീർഘകാല ബാധ�ത
        Correct Answer:- Option-B
Question14:-Accounting equation is developed with the help of ____________.
അെ�ൗ�ിംഗ് സമവാക�ം ____________ ൻെറ സഹായേ�ാെട വികസി�ി�താണ്.
        A:-Money measurement concept
പണം അള��തി��ആശയം
        B:-Revenue realization concept
റവന� റിയൈലേസഷൻ ആശയം
        C:-Historical cost concept
ചരി�പരമായ ചിലവ് ആശയം
        D:-Dual aspect concept
ഇര� വശ ആശയം
        Correct Answer:- Option-D
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Question15:-The comparison of one accounting period with that of the past is possible when one of the concept given below is followed
താെഴ െകാ��ിരി�� ആശയ�ളിെലാ�്  പി�ട�േ�ാൾ ഒ� അെ�ൗ�ിംഗ് കാലയളവിെന �ൻകാല�മായി താരതമ�ം െച�ാം
        A:-Matching
െപാ��െ���
        B:-Consistency
�ിരത
        C:-Cost
െചലവ്
        D:-Going Concern
േഗായിംഗ് കൺേസൺ
        Correct Answer:- Option-B
Question16:-Normally assets are recorded at cost price. This is because of __________
(i)     Going concern concept
(ii)    Historical cost concept
(iii)   Money measurement concept
(iv)   Business entity concept

സാധാരണയായി ആ�ികൾ ചിലവ് വിലയിൽ േരഖെ����. _________ ആശയമാണ് ഇതിന് കാരണം
(i)   േഗായിംഗ് കൺേസൺ കൺസപ്�്
(ii)  ഹിേ�ാറി�ൽ േകാ�് കൺസപ്�്
(iii) മണി െമഷർെമൻറ് കൺസപ്�്
(iv) ബിസിന�് എൻറി�ി കൺസപ്�്
        A:-(i)
(i)
        B:-(ii)
(ii)
        C:-Both (i) and (ii)
(i) ഉം (ii) ഉം
        D:-None of these
ഇെതാ�മി�
        Correct Answer:- Option-B
Question17:-Find out the odd one from the following
താെഴ�റ��തിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Money measurement
പണം അള�ൽ
        B:-Matching
െപാ��െ���ൽ
        C:-Full disclosure
�ർ�മായ െവളിെ���ൽ
        D:-Revenue realization
റവന� റിയൈലേസഷൻ
        Correct Answer:- Option-A
Question18:-Adjustment made for outstanding expenses, accrued income, etc. in the financial statements is due to the _________ principle.
സാ��ിക ��ാവനകളിൽ �ടി�ിക�� െചല�കൾ, സമാഹരി� വ�മാനം �തലായവ�് േവ�ി വ��ിയ �മീകരണം _________തത�ം �ലമാണ്.
        A:-Consistency
�ിരത
        B:-Business entity
ബിസിന�് �ാപനം
        C:-Materiality
െഭൗതികത
        D:-Matching
െപാ��െ���ൽ
        Correct Answer:- Option-D
Question19:-Fixed assets are depreciated over their useful life rather than over shorter period. Name the relevant Accounting Concept.
�ിര ആ�ികൾ �റ� കാലയളവിേന�ാൾ ഉപേയാഗ�ദമായ ജീവിത�ിൽ �ല��കർ��് വിേധയമാ��. �സ�മായ അെ�ൗ�ിംഗ് ആശയ�ിന് േപര് നൽ�ക.
        A:-Materiality
െഭൗതികത
        B:-Going concern
ആശ�യിേല�് േപാ��
        C:-Business entity
ബിസിന�് �ാപനം
        D:-Money measurement
പണം അള�ൽ
        Correct Answer:- Option-B
Question20:-Find the odd one from the following.
താെഴ�റ��വയിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Return outwards
�റേ��് മട�ക
        B:-Purchase return
പർേ�സ് റിേ�ൺ
        C:-Credit note
െ�ഡി�് േനാ�്
        D:-Debit note
െഡബി�് േനാ�്
        Correct Answer:- Option-C
Question21:-Which among the following is an odd one?
താെഴ�റ��വയിൽ വിചി�മായത് ഏതാണ്?
        A:-Cash book
ക�ാഷ് ��്
        B:-Purchase book
വാ�ൽ ��കം
        C:-Sales book
വിൽ�ന ��കം
        D:-Bills receivable book
ബി�കൾ സ�ീകരി�ാ�� ��കം
        Correct Answer:- Option-A
Question22:-Provision for discount on debtors is accounted. State the relevant accounting principle.
കട�ാർ�� കിഴിവി�� വ�വ� കണ�ിെല���. �സ�മായ അെ�ൗ�ിംഗ് തത�ം ��ാവി�ക.
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        A:-Conservatism
യാഥാ�ിതികത
        B:-Dual aspect
ഇര� വശം
        C:-Matching
െപാ��െ���ൽ
        D:-Revenue realization
വ�മാന േന�ം
        Correct Answer:- Option-A
Question23:-Which statement among the following is/are incorrect?
(i)     Trade discount will be shown in the trading and profit and loss account
(ii)    Cash discount will come in the books of accounts through compound journal entries
(iii)   Ledger is the principal book or secondary record

താെഴ�റ��വയിൽ ഏത് ��ാവന െത�ാണ്?
(i)   േ�ഡി�ി�ം ലാഭന� അെ�ൗ�ി�ം േ�ഡ് ഡിെ�ൗ�് കാണി�ം
(ii)  േകാെ�ൗ�് േജണൽ എൻ�ികളി�െട അെ�ൗ�് ��കളിൽ ക�ാഷ് ഡിെ�ൗ�് ലഭി�ം
(iii) �ധാന ��കം അെ��ിൽ െസ�ൻഡറി െറേ�ാർഡാണ് െലഡ്ജർ
        A:-(ii) only
(ii) മാ�ം
        B:-(i) only
(i) മാ�ം
        C:-(i) and (iii)
(i) ഉം (iii) ഉം
        D:-(ii) and (iii)
(ii) ഉം (iii) ഉം
        Correct Answer:- Option-B
Question24:-Which among the following is correct as to the 'Ledger'?
(i)     Ledger is a book of prime entry as all transactions are recorded first in the ledger
(ii)    In Ledger transaction are recorded in a chronological order
(iii)   All permanent accounts are balanced in the ledger and carried forward to the next accounting year
(iv)   All temporary accounts are closed at the end of the accounting period by transfer to trading and profit and loss account

താെഴ�റ��വയിൽ 'െലഡ്ജർ' സംബ�ി�് ശരിയായത് ഏതാണ്?
(i)   എ�ാ ഇടപാ�ക�ം െലഡ്ജറിൽ ആദ�ം േരഖെ����തിനാൽ െലഡ്ജർ ഒ� ൈ�ം എൻ�ി ��കമാണ്
(ii)  െലഡ്ജറിെല ഇടപാ�കൾ ഒ� കാല�മ�ിൽ േരഖെ����
(iii) എ�ാ�ിരം അെ�ൗ�ക�ം െലഡ്ജറിൽ ബാലൻസ് െച�ക�ം അ�� അെ�ൗ�ിംഗ് വർഷേ��് െകാ�േപാ�ക�ം െച��
(iv) േ�ഡിംഗിേല�ം ലാഭന� അെ�ൗ�ിേല�ം �ാൻ�ർ െച�െകാ�് അെ�ൗ�ിംഗ് കാലയളവിൻെറ അവസാന�ിൽ എ�ാ താൽ�ാലിക അെ�ൗ�ക�ം േ�ാസ് െച��
        A:-(i) and (iv) only
(i) ഉം (iv) ഉം മാ�ം
        B:-(i) only
(i) മാ�ം
        C:-(ii) only
(ii) മാ�ം
        D:-(iii) and (iv) only
(iii) ഉം (iv) ഉം മാ�ം
        Correct Answer:- Option-D
Question25:-Find the odd one from the following.
താെഴ�റ��വയിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Bank Statement
ബാ�് േ��്െമൻറ്
        B:-Purchase bill
പർേ�സ് ബിൽ
        C:-Material requisition note
െമ�ീരിയൽ അഭ�ർ�ന �റി�്
        D:-Sales bill
വിൽ�ന ബിൽ
        Correct Answer:- Option-A
Question26:-Find out the passbook balance as on 30th Nov 2023 from the following.
(i)     Bank balance as per cash book Rs. 2905
(ii)    Cheque for Rs.1510 issued on 25/11/2023 was not cashed till 03/12/2023
(iii)   Cheque received from a customer for Rs.2225/-. On 27/11/2023 was not collected by bank till 03/12/2023
(iv)   Credit of interest received Rs.45 from bank, Debit Rs.32. For bank charges were not entered in Cash book.

2023 നവംബർ 30 വെര�� പാസ്��് ബാലൻസ് താെഴ�റ��തിൽ നി�് കെ��ക.
(i)   ക�ാഷ് ��് �കാരം ബാ�് ബാലൻസ് �.2905
(ii)  25/11/2023-ന് നൽകിയ 1510 �പ�െട െച�് 03/12/2023 വെര പണമാ�ിയി�
(iii) ഒ� ഉപേഭാ�ാവിൽ നി�് 2,225 �പ�് െച�് ലഭി�. 27/11/2023-ൽ 03/12/2023 വെര ബാ�് േശഖരി�ി��ി�.
(iv)  ബാ�ിൽ നി�് ലഭി� പലിശ�െട െ�ഡി�് 45 �പ, െഡബി�് 32 �പ. ബാ�് ചാർ�കൾ ക�ാഷ് ��ിൽ േരഖെ���ിയി�ി�.
        A:-Rs.2,235
�.2,235
        B:-Rs.2,248
�.2,248
        C:-Rs.2,290
�.2,290
        D:-Rs.2,203
�.2,203
        Correct Answer:- Option-D
Question27:-Ascertain the balance as per pass book on 30/10/2023 from the following.
(i)     Cash book balance (Credit) Rs.2700
(ii)    Cheque recorded in cash book but omitted to pay in for collection Rs.1100
(iii)   Dividend collected and credited in pass book Rs. 1300
(iv)   Bills receivable discounted was dishonoured Rs.1700
(v)    Bank charges in pass book Rs.125
(vi)   Cheque issued in June 2023 Rs.2050 was presented for encashment only in November 2023

31/10/2023-െല പാസ് ��് �കാര�� ബാലൻസ് താെഴ�റ��തിൽ നി�് ഉറ�ാ�ക.
(i)   ക�ാഷ് ��് ബാലൻസ് (െ�ഡി�്) �.2700
(ii)  െച�് ക�ാഷ് ��ിൽ േരഖെ���ിയി�െ��ി�ം �.1100 േശഖരണ�ിനായി നൽ��തിൽ നി�് ഒഴിവാ�ി
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(iii) ഡിവിഡൻറ് േശഖരി�് പാസ് ��ിൽ െ�ഡി�് െച� �.1300
(iv) ഡിെ�ൗ�് ലഭി� ബി�കൾ �.1700 ന�െ���ി
(v)  പാസ് ��ിെല ബാ�് ചാർ�കൾ �.125
(vi) 2023 �ണിൽ ഇഷ� െച� �.2050 െച�് 2023 നവംബറിൽ എൻക�ാെ�ൻറിനായി സമർ�ി�
        A:-3575
3575
        B:-2275
2275
        C:-4925
4925
        D:-1175
1175
        Correct Answer:- Option-B
Question28:-Trace out the odd one from the following.
               The rules for debit in respect of various categories:
താെഴ�റ��തിൽ നി�് വിചി�മായത് കെ��ക.
              വിവിധ വിഭാഗ��മായി ബ�െ�� െഡബി�ി�� നിയമ�ൾ:
        A:-Debit : Asset increase
െഡബി�് : ആ�ി വർ�നവ്
        B:-Debit : Capital decrease
െഡബി�് : �ലധനം �റ��
        C:-Debit : Income/Revenue increase
െഡബി�് : വ�മാനം/റവന� വർ�ന
        D:-Debit : Liability decrease
െഡബി�് : ബാധ�ത �റ��
        Correct Answer:- Option-C
Question29:-Opening stock Rs.24,000, Net purchases Rs.4,80,000, Direct expenses Rs.52,000. Closing stock Rs.48,000, Administration expenses
Rs.39,000. Find out the cost of goods sold.
ഓ�ണിംഗ് േ�ാ�് �.24,000, അ� പർേ��കൾ �.4,80,000, േനരി�� െചല�കൾ �.52,000, േ�ാസിംഗ് േ�ാ�് �.48,000, അ�ിനിേ�ഷൻ െചലവ് �.39,000. വി�
സാധന��െട വില കെ��ക.
        A:-Rs.5,08,000
�.5,08,000
        B:-Rs.5,47,000
�.5,47,000
        C:-Rs.4,95,000
�.4,95,000
        D:-Rs.5,60,000
�.5,60,000
        Correct Answer:- Option-A
Question30:-Trace out the odd one from the following: (as to the errors which will affect the agreement of Trial Balance)
താെഴ�റ��തിൽ നി�് വിചി�മായത് കെ��ക. (�യൽ ബാലൻസിൻെറ കരാറിെന ബാധി�� പിശ�കൾ സംബ�ി�)്
        A:-Posting the amount on the wrong side of an account
ഒ� അെ�ൗ�ിൻെറ െത�ായ വശ�് �ക േപാ�െച��
        B:-Omission to post an amount from the subsidiary book to the ledger
സബ്സിഡിയറി ��ിൽ നി�് െലഡ്ജറിേല�് ഒ� �ക േപാ�് െച�ാ�� ഒഴിവാ�ൽ
        C:-Posting the same amount twice in an account
ഒ� അെ�ൗ�ിൽ ഒേര �ക ര�തവണ േപാ�് െച��
        D:-Writing wrong amount in as subsidiary book
സബ്സിഡിയറി ��ിൽ െത�ായ �ക എ���
        Correct Answer:- Option-D
Question31:-Opening stock Rs.60,000, Purchases Rs.2,10,000, Sales Rs.2,70,000, Closing stock Rs.80,000. Then the gross profit is
ഓ�ണിംഗ് േ�ാ�് �.60,000, വാ��കൾ �.2,10,000, വിൽ�ന �.2,70,000, േ�ാസിംഗ് േ�ാ�് �.80,000. അേ�ാൾ െമാ� ലാഭം
        A:-Rs.60,000
�.60,000
        B:-Rs.40,000
�.40,000
        C:-Rs.80,000
�.80,000
        D:-None of these
ഇെതാ�മി�
        Correct Answer:- Option-C
Question32:-Which of the following statement is/are false?
(i)     Liabilities that are to be settled within a period of 6 months are called current liabilities
(ii)    Assets which are either in the form of cash or which can be converted into cash within a period of 6 months are called current assets
(iii)   In the order of liquidity the assets are arranged in the order of their realisability

താെഴ�റ�� ��ാവനകളിൽ ഏതാണ് െത�്?
(i)   6 മാസ�ി��ിൽ തീർ�ാേ�� ബാധ�തകെള നിലവിെല ബാധ�തകൾ എ�് വിളി��
(ii)  പണ�ിൻെറ �പ�ി��േതാ അെ��ിൽ 6 മാസ�ി��ിൽ പണമാ�ി മാ�ാ��േതാ ആയആ�ികെള നിലവിെല ആ�ികൾ എ�് വിളി��.
(iii) �വ�ത�െട �മ�ിൽ ആ�ികൾ അവ�െട യാഥാർ���ിൻെറ �മ�ിൽ �മീകരി�ിരി��
        A:-(i) only
(i) മാ�ം
        B:-(ii) only
(ii) മാ�ം
        C:-(i) and (iii) only
(i) ഉം (iii) ഉം മാ�ം
        D:-(i) and (ii) only
(i) ഉം (ii) ഉം മാ�ം
        Correct Answer:- Option-D
Question33:-Sundry debtors as on 31/03/2023 was Rs.15,800. Rs.800 will be irrecoverable and a provision for doubtful debts at 5% is required to be
maintained. Then the figure of sundry debtors in balance sheet as on 31/03/2023 will be Rs._________
31/03/2023-ന് വിവിധ കട�ാർ �.15,800 ആയി��. �.800 തിരിെ���ാൻ കഴിയി�, സംശയാ�ദമായ കട�ൾ�് 5% വ�വ� നിലനിർേ����്. അേ�ാൾ 31/03/2023 െല
ബാലൻസ് ഷീ�ിെല വിവിധ കട�ാ�െട കണ�് �. _________ ആയിരി�ം.
        A:-Rs.14,250
�.14,250
        B:-Rs.15,850
�.15,850
        C:-Rs.15,010
�.15,010
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        D:-None of the these
ഇവെയാ�മി�
        Correct Answer:- Option-A
Question34:-Capital receipts are represented in
�ലധന രസീ�കൾ ____________ ൽ �തിനിധീകരി��.
        A:-Trading Account
േ�ഡിംഗ് അെ�ൗ�്
        B:-Balance Sheet
ബാലൻസ് ഷീ�്
        C:-Profit and Loss Account
ലാഭ ന� അെ�ൗ�്
        D:-Manufacturing Account
നിർ�ാണ അെ�ൗ�്
        Correct Answer:- Option-B
Question35:-Notional profit of a company is Rs.14,700, and the manager is to be paid a commission of 5% after charging such commission. Then the
commission payable is Rs. _________
ഒ� ക�നി�െട സാ�ൽ�ിക ലാഭം �.14,700 ആണ്. അ�രം ക�ീഷൻഈടാ�ിയതിന് േശഷം മാേനജർ�് 5% ക�ീഷൻ നൽകണം. അേ�ാൾ നൽേക� ക�ീഷൻ
        A:-Rs.735
�.735
        B:-Rs.785
�.785
        C:-Rs.700
�.700
        D:-None of these
ഇെതാ�മ�
        Correct Answer:- Option-C
Question36:-Find the odd one from the following.
താെഴ�റ��വയിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Opening stock
േ�ാ�് �റ��
        B:-Purchases
വാ��കൾ
        C:-Sales
വിൽ�ന
        D:-Carriage inwards
ക�ാേരജ് ഇൻവാഡ്സ്
        Correct Answer:- Option-C
Question37:-Find the odd one among the following.
താെഴ�റ��വയിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Old provision for doubtful debts
സംശയാ�ദമായ കട�ൾ�� പഴയ വ�വ�
        B:-New provision for doubtful debts
സംശയാ�ദമായ കട�ൾ�� �തിയ വ�വ�
        C:-Bad debts
കി�ാ�ടം
        D:-Further bad debts
��തൽ കി�ാ�ട�ൾ
        Correct Answer:- Option-A
Question38:-Gross profit is the difference between
െമാ� ലാഭം എ�ത് _________ ത�ി�� വ�ത�ാസമാണ്
        A:-Sales and purchases
വിൽ�ന�ം വാ��ക�ം
        B:-Sales and cost of sales
വിൽ�ന�ം വിൽ�നെ�ല�ം
        C:-Sales and total expenses
വിൽ�ന�ം െമാ�ം െചല�ക�ം
        D:-Sales and sales returns
വിൽ�ന�ം െസയിൽസ് റിേ��ക�ം
        Correct Answer:- Option-B
Question39:-Trace out the odd one from the following.
താെഴ�റ��തിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Carriage outward
ക�ാേരജ് ഔ�് വാർഡ്
        B:-Provision for bad debts
കി�ാ�ട�ൾ�� വ�വ�
        C:-Advertisement charges
പരസ� നിര�കൾ
        D:-Return outwards
കാേര�ജ് ഔ�് വാർഡ്സ്
        Correct Answer:- Option-D
Question40:-Which one of the following is different from others?
താെഴ�റ��വയിൽ ഏതാണ് മ��വയിൽ നി�് വ�ത��മായത്?
        A:-Octroi
ഒേ�ായ്
        B:-Dock dues
േഡാ�് ഡ�സ്
        C:-Repairs
അ����ണികൾ
        D:-Import duty
ഇറ�മതി തീ�വ
        Correct Answer:- Option-C
Question41:-This will be added along with the respective items and shown on the debit side of the Income Statement. This is also shown on the
liabilities side of balance sheet. Which item?
ഇത് ബ�െ�� ഇന�േളാെടാ�ം ��ിേ�ർ�ക�ം വ�മാന ��ാവന�െട െഡബി�് ഭാഗ�് കാണി�ക�ം െച�ം. ബാലൻസ് ഷീ�ിൻെറ ബാധ�തക�െട വശ�ം ഇത് കാണി�ിരി��. ഏത്
സാധനം?
        A:-Outstanding expenses
�ടി�ിക�� െചല�കൾ
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        B:-Prepaid Income
�ീെപയ്ഡ് വ�മാനം
        C:-Accrued Income
സമാഹരി� വ�മാനം
        D:-Prepaid Expense
�ീെപയ്ഡ് െചലവ്
        Correct Answer:- Option-A
Question42:-While arranging the following assets and liabilities in the order of liquidity which among the following is correct?
Goodwill, Machinery, Prepaid expense, Cash at bank, Bills receivables, Bills payable, Loan from bank, Bank over draft, Sundry creditors, Outstanding
expenses.
താെഴ�റ��ആ�ിക�ം ബാധ�തക�ം ലിക�ിഡി�ി �മ�ിൽ �മീകരി�േ�ാൾ താെഴ�റ��വയിൽ ഏതാണ് ശരി?
�ഡ�ിൽ, െമഷിൻറി, �ീെപയ്ഡ് െചല�കൾ, ബാ�ിെല പണം, ബി�കൾ സ�ീകരി�ാ��വ, അടേ�� ബി�കൾ, ബാ�ിൽ നി�� േലാൺ, ബാ�് ഓവർ�ാ�്, വിവിധ കട�ാർ, �ടി�ിക��
െചല�കൾ
        A:-Cash at bank
Bank overdraft
Sundry creditors
Bills receivables
Bills payables
ബാ�ിൽ പണം
ബാ�് ഓവർ�ാ�്
വിവിധ കട�ാർ
ബി�കൾ സ�ീകരി�ാ��വ
അടേ�� ബി�കൾ
        B:-Cash at bank
Bills receivables
Prepaid expenses
Machinery
Goodwill
ബാ�ിൽ പണം
ബി�കൾ സ�ീകരി�ാ��വ
�ീെപയ്ഡ് െചല�കൾ
െമഷിനറി
�ഡ് വിൽ
        C:-Cash at bank
Bank overdraft
Bills payable
Bills receivable
Sundry creditors
ബാ�ിൽ പണം
ബാ�് ഓവർ�ാ�്
അടേ�� ബി�കൾ
സ�ീകാര�മായ ബി�കൾ
വിവിധ കട�ാർ
        D:-Bank overdraft
Prepaid expenses
Bills receivables
Sundry creditors
Outstanding expenses
ബാ�് ഓവർ�ാ�്
�ീെപയ്ഡ് െചല�കൾ
ബി�കൾ സ�ീകരി�ാ��വ
വിവിധ കട�ാർ
�ടി�ിക െചല�കൾ
        Correct Answer:- Option-B
Question43:-An expenditure, the benefit of which is expected to be received for more than the particular year in which it is incurred
ഒ� െചലവ്, അതിൻെറ �േയാജനം അത് െചലവഴി� �േത�ക വർഷേ��ാൾ ��തൽ ലഭി�െമ�് �തീ�ി��?
        A:-Revenue expenditure
റവന� െചലവ്
        B:-Deferred revenue expenditure
മാ�ിെവ� റവന� െചലവ്
        C:-Capital expenditure
�ലധന െചലവ്
        D:-None of these
ഇെതാ�മി�
        Correct Answer:- Option-B
Question44:-On 10.11.2022 Mr.A purchased a second hand car worth Rs.65,000 and paid Rs.25,000 as repair and maintenance. He also paid
Rs.5,000 as brokerage. After one year he sold the car for Rs.75,000 and Rs.6,000 paid as brokerage for sale. Find out the capital expenditure.
10.11.2022 ന് Mr.A 65,000 �പ വില�� ഒ� െസ�ൻഡ് ഹാൻഡ് കാർ വാ�ക�ം അ����ണികൾ�ായി 25,000 �പ നൽ�ക�ം െച�. േ�ാ�േറജായി 5000 �പ�ം െകാ��.
ഒ� വർഷ�ി�േശഷം അേ�ഹം കാർ 75,000 �പ�് വി�, വിൽ�ന�ായി േ�ാ�േറജായി നൽകിയ 6,000 �പ. �ലധന െചലവ് കെ��ക.
        A:-Rs.65,000
�.65,000
        B:-Rs.14,000
�.14,000
        C:-Rs.90,000
�.90,000
        D:-Rs.95,000
�.95,000
        Correct Answer:- Option-D
Question45:-On 1/7/2021 A & Co. Purchased a machinery for Rs.24,000 and spent Rs.1000 for its installation. Under written down value method,
what is the amount of depreciation as on 31.12.2022 if the rate of depreciation is 20% per annum?
1/7/2021 A & Co. 24,000 �പ�് ഒ� െമഷിനറി വാ�ി, അതിൻെറ ഇൻ�ാേളഷനായി 1000 �പ െചലവഴി�. �ല��കർ��െട നിര�് �തിവർഷം 20% ആെണ�ിൽ, 31.12.2022
െല �ല��കർ��െട �ല�ം എ�തി��ിയ രീതി�് കീഴിൽ എ�യാണ്?
        A:-Rs.4500
�.4500
        B:-Rs.2700
�.2700
        C:-Rs.1800
�.1800
        D:-None of these
ഇെതാ�മ�
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        Correct Answer:- Option-A
Question46:-Which among the following is incorrect?
(i)     A provision is an appropriate of profit while a reserve is a charge against profits
(ii)    A provision is created for meeting unknown contingencies while a Reserve is created for meeting some expected losses
(iii)   A Reserve is shown as distinct item on the liabilities side of Balance sheet. Provision is generally subtracted from the respective item of assets
and is shown on the Assets side

താെഴ�റ��വയിൽ ഏതാണ് െത�്?
(i)  ഒ� വ�വ� ലാഭ�ിന് േയാജി�താണ്, ഒ� ക�തൽ ലാഭ�ിെനതിരായ ചാർജാണ്
(ii)  അ�ാതമായ അനി�ിതാവ�കൾ �തീ�ി�� ചില ന��ൾ േനരി��തിന് ഒ� ക�തൽ േശഖരം ��ി�െ���
(iii) ബാലൻസ് ഷീ�ിൻെറ ബാധ�തക�െട ഭാഗ�് ഒ� ക�തൽ വ�തിരി�മായ ഇനമായി കാണി�ിരി��. െ�ാവിഷൻ സാധാരണയായി അസ�ക�െട ബ�െ�� ഇന�ിൽ നി�് �റ�ക�ം
അസ�് വശ�് കാണി�ക�ം െച��
        A:-(i) and (iii) only
(i) ഉം (iii) ഉം മാ�ം
        B:-(ii) and (iii) only
(ii) ഉം (iii) ഉം മാ�ം
        C:-(i) and (ii) only
(i) ഉം (ii) ഉം മാ�ം
        D:-All of the above
�കളിൽ പറ�വെയ�ാം
        Correct Answer:- Option-C
Question47:-Find out the odd one.
വിചി�മായത് കെ��ക.
        A:-Insurance unexpired
ഇൻ�റൻസ് കാലഹരണെ��ി�ി�
        B:-Wages paid but not due
േവതനം നൽകിെയ�ി�ം �ടി�ികയി�
        C:-Salary paid in advance
ശ�ളം �ൻ�റായി അട�
        D:-Interest received but not earned
പലിശ ലഭി�, പേ� േനടിയി�
        Correct Answer:- Option-D
Question48:-The State of an existing assets becoming out of date on account of improvements in technology or changes in demand pattern
സാേ�തികവിദ�യിെല െമ�െ����കേളാ അെ��ിൽ ഡിമാൻഡ് പാേ�ണിെല മാ��േളാ കാരണം നിലവി�� ആ�ിക�െട അവ� കാലഹരണെ��
        A:-Depletion
േശാഷണം
        B:-Obsolescence
കാലഹരണെ�ടൽ
        C:-Amortization
അേമാർൈ�േസഷൻ
        D:-Fluctutation
ഏ��റ�ി�കൾ
        Correct Answer:- Option-B
Question49:-A Co. bought machinery at a cost of Rs.7,000. On 1/1/2019 its working life is 4 years and the estimated scrap value is Rs.1,000 at the
end of the period. What is the value of machinery on 1/1/2022 under straight line method of depreciation?
7,000 �പ �ട�ി ഒ� ക�നി യ��ൾ വാ�ി. 1/1/2019-ന് അതിൻെറ �വർ�നആ��് 4 വർഷമാണ്, കാലയളവ് അവസാനി�േ�ാൾ കണ�ാ�ിയ �ാ�് �ല�ം 1,000 �പയാണ്.
1/1/2022-െല �ല��കർ��െട േനർേരഖയിൽ യ���െട �ല�ം എ�ാണ്?
        A:-Rs.4,000
�.4,000
        B:-Rs.3,000
�.3,000
        C:-Rs.2,500
�.2,500
        D:-Rs.1,500
�.1,500
        Correct Answer:- Option-C
Question50:-This term is used to write off intangible assets. What is the term?
ഈപദം അ�ശ�മായ ആ�ികൾ എ�തി��ാൻ ഉപേയാഗി��. എ�ാണ് പദം?
        A:-Amortization
അേമാർൈ�േസഷൻ
        B:-Depletion
േശാഷണം
        C:-Obsolescence
കാലഹരണെ�ടൽ
        D:-Depreciation
�ല��കർ�്
        Correct Answer:- Option-A
Question51:-Find out the odd one from the following.
താെഴ�റ��വയിൽ നി�് വിചി�മായ ഒ�് കെ��ക.
        A:-To ascertain true results
യഥാർ� ഫല�ൾ കെ���തിന്
        B:-To retain funds for replacements
മാ�ി�ാപി��തി�� ഫ�് നിലനിർ�ാൻ
        C:-To present true balance sheet
യധാർ� ബാലൻസ് ഷീ�് അവതരി�ി�ാൻ
        D:-To know financial position
സാ��ിക�ിതി അറിയാൻ
        Correct Answer:- Option-D
Question52:-Find the odd one from the following.
താെഴ�റ��വയിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Profit on sale of fixed assets
�ിര ആ�ികൾ വിൽ�േ�ാൾ ലാഭം
        B:-Profit on revaluation of fixed assets
�ിര ആ�ിക�െട �നർ�ല�നിർണയ�ിൽ നി�� ലാഭം
        C:-Profit on sale of goods
സാധന��െട വിൽ�നയിെല ലാഭം
        D:-Profit on redemption of debentures
കട���ൾ വീെ����തി�� ലാഭം
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        Correct Answer:- Option-C
Question53:-Which among the following is/are incorrect as to its Bill of Exchange?
(i)     The date on which a bill of exchange becomes payable is the due date of maturity
(ii)    The date of maturity is calculated by adding three more days to the nominal due date
(iii)    If the due date falls a public holiday then the bill is payable on the succeeding working day
താെഴ�റ��വയിൽ ഏതാണ് അതിൻെറ എ�്േച�് ബി�ിൻെറ കാര��ിൽ െത�്?
(i)   എ�്േച�് ബിൽ അടേ�� തീയതിയാണ് കാലാവധി �ർ�ിയാകാ�� അവസാന തീയതി
(ii)  കാലാവധി �ർ�ിയാകാ�� തീയതി നാമമാ�മായ അവസാന തീയതിയിേല�് ��് ദിവസം �ടി േചർ�ാണ് കണ�ാ��ത്
(iiii) നി�ിത തീയതി െപാ� അവധിയാെണ�ിൽ, �ടർ�� ���ി ദിവസ�ിൽ ബിൽ അടേ��താണ്
        A:-(i) and (ii)
(i) ഉം (ii) ഉം
        B:-(iii) only
(iii) മാ�ം
        C:-(i) and (iii)
(i) ഉം (iii) ഉം
        D:-(ii) and (iii)
(ii) ഉം (iii) ഉം
        Correct Answer:- Option-B
Question54:-X & Co. purchased the following items during the year 2022.
10/4/2022; 1,000 units @ Rs.60
5/8/2022; 2,000 units @ Rs.68
8/11/2022; 500 units @ Rs.64
1,950 units were issued for manufacturing during the year 2022. Value of closing inventory as on 31/12/2022 under FIFO method is Rs. ___________

X & Co. 2022-ൽ താെഴ�റ�� ഇന�ൾ വാ�ി.
10/4/2022; 1,000 �ണി�കൾ @ Rs.60
5/8/2022; 2,000 �ണി�കൾ @ Rs.68
8/11/2022; 500 �ണി�കൾ @ Rs.64
2022 ൽ  നിർ�ാണ�ിനായി 1,950 �ണി�കൾ ഇഷ� െച�. FIFO രീതി �കാരം 31/12/22 െല േ�ാസിംഗ് ഇൻെവൻററി �ല�ം
        A:-Rs.35,400
�.35,400
        B:-Rs.35,200
�.35,200
        C:-Rs.37,400
�.37,400
        D:-Rs.33,000
�.33,000
        Correct Answer:- Option-A
Question55:-Find the odd one from the following.
താെഴ�റ��തിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Unconditional order
നി�പാധികമായ ഓർഡർ
        B:-Signed by the Creditor
കട�ാരൻ ഒ�ി�ത്
        C:-Contains a promise
ഒ� വാ�ാനം അട�ിയിരി��
        D:-Addressed to a definite person
ഒ� നി�ിത വ��ിെയ അഭിസംേബാധന െച��
        Correct Answer:- Option-C
Question56:-Find out the odd one from the following.
താെഴ�റ��വയിൽ നി�് വിചി�മായ ഒ�് കെ��ക.
        A:-Life Membership Subscription
ൈലഫ് അംഗത� സബ്�ിപ്ഷൻ
        B:-Legacies
െലഗസികൾ
        C:-Donation from Members
അംഗ�ളിൽ നി�� സംഭാവന
        D:-Subscriptions
സബ്�ിപ്ഷ�കൾ
        Correct Answer:- Option-D
Question57:-Which among the following is/are incorrect as to the special features of Income and Expenditure Account?
(i)     It has no opening balance
(ii)    Both revenue and capital items are taken into consideration
(iii)    Provision is not made for outstanding expenses, accrued income, etc.
വര�ം െചല�ം അെ�ൗ��െട �േത�ക സവിേശഷതകൾ സംബ�ി�് താെഴ�റ��വയിൽ െത�് ഏതാണ്?
(i)  ഇതിന് ഓ�ണിംഗ് ബാലൻസ് ഇ�
(ii) വ�മാന�ം �ലധന ഇന��ം കണ�ിെല���
(iii) �ടി�ിക�� െചല�കൾ, സമാഹരി� വ�മാനം �തലായവ�ായി വ�വ� െച�ി�ി�
        A:-All of these
ഇവെയ�ാം
        B:-(ii) only
(ii) മാ�ം
        C:-(ii) and (iii) only
(ii) �ടാെത (iii) മാ�ം
        D:-(i) only
(i) മാ�ം
        Correct Answer:- Option-C
Question58:-State the due date of a bill drawn on 27/10/2023 for a term of one month.
ഒ� മാസെ� കാലാവധി�ായി 27/10/2023-ന് വര� ബി�ിൻെറ അവസാന തീയതി പറ�ക.
        A:-30/11/2023
30/11/2023
        B:-27/11/2023
27/11/2023
        C:-26/11/2023
26/11/2023
        D:-None of these
ഇെതാ�മി�
        Correct Answer:- Option-A
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Question59:-Making payment of the bill by the acceptor to the holder before maturity is called
െമച�രി�ി�് ��് േഹാൾഡർ�് സ�ീകരി��യാൾ ബിൽ അട��ത് ________ എ� വിളി��
        A:-Renewal of the bill
ബി�് ���ൽ
        B:-Retiring a bill
ഒ� ബിൽ പിൻവലി��
        C:-Discounting the bill
ബി�ിൽ കിഴിവ്
        D:-Dishonour of bill
ബി�ിൻെറ ഡിസ്ഓണർ
        Correct Answer:- Option-B
Question60:-The amount received by the non-profit organizations as per the will of a deceased person is known as
മരണെ�� വ��ി�െട ഇ��കാരം ലാേഭ�യി�ാെത �വർ�ി���ാപന�ൾ�് ലഭി�� �ക ഇ�െനയാണ് അറിയെ���ത്.
        A:-Endowment Fund
എൻേഡാവ്െമൻറ് ഫ�്
        B:-Donation
ദാനം
        C:-Contribution
സംഭാവന
        D:-Legacy
െലഗസി
        Correct Answer:- Option-D
Question61:-When a transaction is recorded on both sides of a cash book, it is called ________
ഒ� ക�ാഷ് ��ിൻെറ ഇ�വശ�ം ഒ� ഇടപാട് േരഖെ���േ�ാൾ, അതിെന വിളി��
        A:-Compound entry
േകാെ�ൗ�് എൻ�ി
        B:-Contra entry
േകാൺ�ാ എൻ�ി
        C:-Double entry
ഡബിൾ എൻ�ി
        D:-Journal entry
േജണൽ എൻ�ി
        Correct Answer:- Option-B
Question62:-Which of the following is not an objective of preparing Trial Balance?
താെഴ�റ��വയിൽ ഏതാണ് �യൽ ബാലൻസ് ത�ാറാ��തി�� ല��മ�ാ�ത്?
        A:-To help to locate errors
പിശ�കൾ കെ��ാൻ സഹായി��തിന്
        B:-To provide basis for the preparation of final accounts
അ�ിമ അെ�ൗ�കൾ ത�ാറാ��തി�� അടി�ാനം നൽ��തിന്
        C:-To know the profit or loss
ലാഭന�ം അറിയാൻ
        D:-To check the arithmetical accuracy of accounts
അെ�ൗ�ക�െട ഗണിത �ത�ത പരിേശാധി��തിന്
        Correct Answer:- Option-C
Question63:-__________ is the final function of accounting.
__________ എ�ത് അെ�ൗ�ിംഗിൻെറ അവസാന �വർ�നമാണ്.
        A:-Interpreting
വ�ാഖ�ാനി��
        B:-Analysing
വിശകലനം െച��
        C:-Communicating
ആശയവിനിമയം
        D:-Tabulation
പ�ികെ���ൽ
        Correct Answer:- Option-A
Question64:-Standardization of accounting policies and principles is essential to ensure
അെ�ൗ�ിംഗ് േപാളിസിക�െട�ം തത���െട�ം �ാൻേഡർൈഡേസഷൻ ഉറ�ാ�ാൻ അത�ാവശ�മാണ്
        A:-Comparability
താരതമ�െ���ൽ
        B:-Consistency
�ിരത
        C:-Transparency
�താര�ത
        D:-All of these
ഇവെയ�ാം
        Correct Answer:- Option-D
Question65:-A & Co. purchased goods worth Rs. 14,00,000 and its scrap value is forecasted as 'Nil'. Life of the asset is 7 years. Find out the
depreciation to be charged to the second year under the 'Sum of years digits method'.
A & Co. 14,00,000 �പ വില�� സാധന�ൾ വാ�ി. അതിൻെറ �ാ�് �ല�ം �ജ�മായി �വചി�െ���. അസ�ിൻെറ ആ��് 7 വർഷമാണ്. 'സം ഓഫ് ഇേയ�് ഡിജി�്സ് െമേ�ഡ്'
�കാരം ര�ാം വർഷേ��് ഈടാേ�� �ല��കർ� കെ��ക.
        A:-3,50,000
3,50,000
        B:-3,00,000
3,00,000
        C:-2,50,000
2,50,000
        D:-None of these
ഇെതാ�മ�
        Correct Answer:- Option-B
Question66:-An increase in the provision for doubtful debts would lead to
സംശയാ�ദമായ കട�ൾ�� വ�വ�യിൽ വർ�നവിന് കാരണം
        A:-Decrease in net profit
അ�ാദായ�ിൽ �റവ്
        B:-Decrease in creditors
കട�ാരിൽ �റവ്
        C:-Increase in capital
�ലധന�ിൽ വർ�നവ്
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        D:-Increase in net profit
അ�ാദായ�ിൽ വർ�നവ്
        Correct Answer:- Option-A
Question67:-Find out the odd one from the following.
താെഴ�റ��വയിൽ നി�് വിചി�മായത് കെ��ക.
        A:-Current cost
നിലവിെല െചലവ്
        B:-Present value
നിലവിെല �ല�ം
        C:-Future value
ഭാവി �ല�ം
        D:-Historical cost
ഹിേ�ാറി�ൽ ചിലവ്
        Correct Answer:- Option-C
Question68:-The best known ratio to measure financial strength of an institution
ഒ��ാപന�ിൻെറ സാ��ിക ശ�ി അള��തി�� ഏ��ം അറിയെ��� അ�പാതം
        A:-Acid test ratio
ആസിഡ് െട�് അ�പാതം
        B:-Working capital turnover ratio
�വർ�ന �ലധന വി�വരവ് അ�പാതം
        C:-Cash ratio
പണ അ�പാതം
        D:-Current ratio
നിലവിെല അ�പാതം
        Correct Answer:- Option-D
Question69:-___________ and ___________ are two primary qualitative characteristics of financial statements.
___________, ___________ എ�ിവ സാ��ിക ��ാവനക�െട ര�് �ാഥമിക �ണപരമായ സവിേശഷതകളാണ്.
        A:-Relevant and Understandability
�സ��ം മന�ിലാ�ാ���ം
        B:-Relevance and Reliability
�സ�ി�ം വിശ�ാസ�ത�ം
        C:-Materiality and Reliability
െമ�ീരിയ�ം വിശ�ാസ�ത�ം
        D:-Understandability and Materiality
ധാരണ�ം െഭൗതികത�ം
        Correct Answer:- Option-B
Question70:-In case of bill of exchange 'Not in charges' is to be borne by ___________
എ�്േച�് ബി�ിൻെറ കാര��ിൽ 'ചാർ�കൾ ഇ�' എ�ത് ___________ വഹിേ��താണ്
        A:-Drawee
േ�ായി
        B:-Bank
ബാ�്
        C:-Drawer
േ�ായർ
        D:-None of these
ഇെതാ�മ�
        Correct Answer:- Option-A
Question71:-__________ are the errors that may happen at the stage of posting the entries in ledger.
െലഡ്ജറിൽ എൻ�ികൾ േപാ�െച�� ഘ��ിൽ സംഭവി�ാ�� പിശ�കളാണ്  __________
        A:-Error of principle and error of commission
തത��ിെല പിശ�ം ക�ീഷനിെല പിശ�ം
        B:-Error of omission and error of principle
ഒഴിവാ�ലിൻെറ  പിശ�ം തത��ിെല പിശ�ം
        C:-Error of omission and error of commission
ഒഴിവാ�ലിൻെറ പിശ�ം ക�ീഷനിെല പിശ�ം
        D:-Error of omission and compensating errors
ഒഴിവാ��തി�ം പിഴ�കൾ പരിഹരി��തി�ം പിശക്
        Correct Answer:- Option-C
Question72:-Which type of report is given by the Auditor, when he is satisfied with the fairness of Balance Sheet and Profit and Loss Account?
ബാലൻസ് ഷീ�ിൻെറ�ം ലാഭന��ിൻെറ�ം അെ�ൗ�ിൻെറ�ം ന�ായ�ിൽ ��നാ�േ�ാൾ, ഏത് തര�ി�� റിേ�ാർ�ാണ് ഓഡി�ർ നൽ��ത്?
        A:-Qualified Report
േയാഗ�ത�� റിേ�ാർ�്
        B:-Disclaimer Report
നിരാകരണ റിേ�ാർ�്
        C:-Unqualified Report
േയാഗ�തയി�ാ� റിേ�ാർ�്
        D:-None of these
ഇെതാ�ം ഇ�
        Correct Answer:- Option-C
Question73:-Opening balance and closing balance of debtors and credit sales are given. What would be the balancing figure in Debtor's Account?
കട�ാ�െട ഓ�ണിംഗ് ബാലൻ�ം േ�ാസിംഗ് ബാലൻ�ം െ�ഡി�് വിൽ�ന�ം നൽകിയിരി��. കട�ാരൻെറ അെ�ൗ�ിെല ബാലൻസിംഗ് ഫിഗർ എ�ായിരി�ം?
        A:-Cash sales
ക�ാഷ് െസയിൽസ്
        B:-Cash received from debtors
കട�ാരിൽ നി�് പണം സ�ീകരി�
        C:-Bill receivable honoured
ബിൽ ലഭിേ�� �കകൾ ആദരി�
        D:-Bad debt
കി�ാ�ടം
        Correct Answer:- Option-B
Question74:-Revenue is recognized before cash is received in the case of
പണം ലഭി��തിന് ��് വ�മാനം തിരി�റി��ത്
        A:-Accrued Revenue
സമാഹരി� വ�മാനം
        B:-Deferred Revenue
മാ�ിെവ� വ�മാനം
        C:-Capitalized Revenue
�ലധന വ�മാനം
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        D:-None of these
ഇെതാ�മ�
        Correct Answer:- Option-A
Question75:-Advance Income Tax shown in Trial Balance is to be included in _________ of the __________
�യൽ ബാലൻസിൽ കാണി�ിരി�� �ൻ�ർ ആദായനി�തി _________ �െട __________ -ൽ ഉൾെ��േ��താണ്
        A:-Credit side, Profit and Loss Account
െ�ഡി�് ൈസഡ്, ലാഭ�ം ന��ം അെ�ൗ�്
        B:-Debit side, Profit and Loss Account
െഡബി�് ൈസഡ്, ലാഭ�ം ന��ം അെ�ൗ�്
        C:-Liability side, Balance Sheet
ബാധ�ത വശം, ബാലൻസ് ഷീ�്
        D:-Asset side, Balance Sheet
അസ�് വശം, ബാലൻസ് ഷീ�്
        Correct Answer:- Option-D
Question76:-According to which concept the owner of an enterprise pays the 'Interest on Drawings'.
ഒ� എൻറർൈ�സസിൻെറ ഉടമ 'േ�ായിം�ക�െട പലിശ' നൽ��ത് ഏത് ആശയം അ�സരി�ാണ്?
        A:-Dual aspect concept
ഇര� വശ ആശയം
        B:-Conservative concept
യാഥാ�ിതിക ആശയം
        C:-Consistency concept
�ിരമായ ആശയം
        D:-Entity concept
എൻറി�ി ആശയം
        Correct Answer:- Option-D
Question77:-If wages paid is wrongly recorded in Salary Account, it is an example of error of _________
അട� േവതനം സാലറി അെ�ൗ�ിൽ െത�ായി േരഖെ���ിയി�െ��ിൽ, അത് _________ ൻെറ പിശകിൻെറ ഒ� ഉദാഹരണമാണ്
        A:-Commission
ക�ീഷൻ
        B:-Omission
ഒഴിവാ�ൽ
        C:-Principle
തത�ം
        D:-None of these
ഇെതാ�ം ഇ�
        Correct Answer:- Option-C
Question78:-'Holding gains in relation to stocks should not be used for payment of dividend'. Which one of the following accounting principle is
involved in this?
'േ�ാ�ക�മായി ബ�െ�� േന��ൾ ലാഭവിഹിതം നൽ��തിന് ഉപേയാഗി��ത്' താെഴ�റ�� അെ�ൗ�ിംഗ് തത��ളിൽ ഏതാണ് ഇതിൽ ഉൾെ��ിരി��ത്?
        A:-Realization
തിരി�റിവ്
        B:-Consistency
�ിരത
        C:-Materiality
െമ�ീരിയൽ
        D:-Cost
െചലവ്
        Correct Answer:- Option-A
Question79:-Stock of goods given as free samples are credited in _________ account.
െസൗജന� സാ�ി�കളായി നൽകിയിരി�� സാധന��െട േ�ാ�് _________ അെ�ൗ�ിൽ െ�ഡി�് െച�െ���.
        A:-Purchases
വാ��കൾ
        B:-Sales
വിൽ�ന
        C:-Advertisement
പരസ�ം
        D:-None of these
ഇെതാ�മ�
        Correct Answer:- Option-A
Question80:-No inference of profit and the provision making policy for all possible losses is due to
ലാഭ�ിൻെറ അ�മാന�ം, സാധ�മായ എ�ാ ന��ൾ�ം െ�ാവിഷൻ േമ�ിംഗ് േപാളിസി�ം കാരണമ�
        A:-Convention of Consistency
കൺെവൻഷൻ ഓഫ് കൺസി�ൻസി
        B:-Convention of Conservatism
കൺസർേവ�ിസ�ിൻെറ കൺെവൻഷൻ
        C:-Convention of Disclosure
െവളിെ���ലിൻെറ കൺെവൻഷൻ
        D:-Convention of Materiality
െഭൗതികത�െട കൺെവൻഷൻ
        Correct Answer:- Option-B
Question81:-Contingent Liabilities are shown as
ആക�ികമായ ബാധ�തകൾ ഇ�കാരം കാണി�ിരി��
        A:-Current liability in balance sheet
ബാലൻസ് ഷീ�ിെല നിലവിെല ബാധ�ത
        B:-Capital fund in balance sheet
ബാലൻസ് ഷീ�ിെല �ലധന ഫ�്
        C:-Foot notes to balance sheet
ബാലൻസ് ഷീ�ിേല�� അടി�റി�കൾ
        D:-Reserve fund in balance sheet
ബാലൻസ് ഷീ�ിെല റിസർവ് ഫ�്
        Correct Answer:- Option-C
Question82:-Decrease in amount of trade receivables results in __________
േ�ഡ് സ�ീകാര�തക�െട അളവ് �റ��ത് ___________ കാരണമാ��.
        A:-Increase in capital
�ലധന�ിൽ വർ�നവ്
        B:-Increase in loan
വാ�യിൽ വർ�നവ്
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        C:-Increase in liabilities
ബാധ�തകളിൽ വർ�നവ്
        D:-Increase in cash
പണ�ിൻെറ വർ�നവ്
        Correct Answer:- Option-D
Question83:-Credit balance of ledger is
െലഡ്ജറിൻെറ െ�ഡി�് ബാലൻസ് ആണ്
        A:-A revenue or a liability
ഒ� വ�മാനം അെ��ിൽ ഒ� ബാധ�ത
        B:-A revenue or an asset
ഒ� വ�മാനം അെ��ിൽ ഒ� അസ�്
        C:-An expenditure or an asset
ഒ� െചലവ് അെ��ിൽ ഒ� അസ�്
        D:-An expenditure or a liability
ഒ� െചലവ് അെ��ിൽ ഒ� ബാധ�ത
        Correct Answer:- Option-A
Question84:-Suspense Account facilitates the preparation of _________ even if the ________ has not been tallied.
_________ കണ�ാ�ിയി�ിെ��ി�ം ________ ത�ാറാ�ാൻ  സെ�ൻസ് അെ�ൗ�് സഹായി��
        A:-Trial balance, Financial Statement
�യൽ ബാലൻസ്, സാ��ിക ��ാവന
        B:-Financial Statement, Trial balance
സാ��ിക ��ാവന, �യൽ ബാലൻസ്
        C:-Ledger, Trial balance
െലഡ്ജർ, �യൽ ബാലൻസ്
        D:-Trial balance, Ledger
�യൽ ബാലൻസ്, െലഡ്ജർ
        Correct Answer:- Option-B
Question85:-On Scrutiny an Accountant found that
(i)     Bad debts recovery of Rs.500 was credited to Debtor's Account wrongly
(ii)    Bank charges of Rs.50 was wrongly entered twice in Bank book
(iii)   Purchase return of Rs.100 was omitted to entered in the books of accounts
What will be the net effect in profit after above rectification?
ഒ� അെ�ൗ�ൻറ് ��പരിേശാധനയിൽ കെ��ി
(i)   500 �പ�െട കി�ാ�ടം വീെ���ൽ കട�ാരൻെറ അെ�ൗ�ിൽ െത�ായി െ�ഡി�് െച�
(ii)  ബാ�് ��ിൽ 50 �പ�െട ബാ�് ചാർ�കൾ ര�തവണ െത�ായി േരഖെ���ിയി��്
(iii) 100 �പ�െട പർേ�സ് റിേ�ൺ അെ�ൗ�് ��കളിൽ േരഖെ����ത് ഒഴിവാ�ി
േമൽ�റ� തി��ലി�േശഷം ലാഭ�ിൽ അ�ഫലം എ�ായിരി�ം?
        A:-Increase Rs.350
350 �പ വർ�ി�ി�ക
        B:-Decrease Rs.650
650 �പ �റ�ക
        C:-Increase Rs.550
550 �പ വർ�ി�ി�ക
        D:-Increase Rs.650
650 �പ വർ�ി�ി�ക
        Correct Answer:- Option-D
Question86:-Which type of error occurs when credit sales is wrongly posted in Purchase Day book?
പർേ�സ് േഡ ��ിൽ െ�ഡി�് െസയിൽസ് െത�ായി േപാ�് െച�േ�ാൾ ഏത് തര�ി�� പിശകാണ് സംഭവി��ത്?
        A:-Error of principle
തത��ിൻെറ പിശക്
        B:-Error of omission
ഒഴിവാ�ിയതിെല പിശക്
        C:-Error of commission
ക�ീഷനിെല പിശക്
        D:-Compensating error
പിഴവ് പരിഹരി��
        Correct Answer:- Option-C
Question87:-If closing stock is undervalued by Rs.10,000 and opening stock is overvalued by Rs.10,000, then the impact on the gross profit of the
business would be
േ�ാസിംഗ് േ�ാ�ിൻെറ �ല�ം 10,000 �പ�ം ഓ�ണിംഗ് േ�ാ�ിൻെറ �ല�ം 10,000 �പ�ം �റവാെണ�ിൽ, ബിസിനസിൻെറ െമാ� ലാഭെ� ബാധി�ം
        A:-Gross profit undervalued by Rs.10,000
െമാ� ലാഭം 10,000 �പ �റ�
        B:-Gross profit overvalued by Rs.10,000
െമാ� ലാഭം 10,000 �പ അധികമായി കണ�ാ��
        C:-Gross profit undervalued by Rs.20,000
െമാ� ലാഭം 20,000 �പ �റ�
        D:-No impact on gross pro
െമാ� ലാഭെ� ബാധി�ി�
        Correct Answer:- Option-C
Question88:-Suspense Account is
സെ�ൻസ് അെ�ൗ�് ആണ്
        A:-Nominal Account
നാമമാ�മായ അെ�ൗ�്
        B:-Real Account
റിയൽ അെ�ൗ�്
        C:-Personal Account
വ��ിഗത അെ�ൗ�്
        D:-Any of the above
�കളിൽ പറ�വയിൽ ഏെത�ി�ം
        Correct Answer:- Option-D
Question89:-When closing stock represents the latest purchased goods, then the stock has been issued under
േ�ാസ് െച�� േ�ാ�് ഏ��ം �തിയ വാ�ിയ സാധന�െള �തിനിധീകരി�േ�ാൾ, േ�ാ�് താെഴ നൽകിയിരി��ത്
        A:-LIFO method
LIFO രീതി
        B:-FIFO method
FIFO രീതി
        C:-Average cost method
ശരാശരി െചലവ് രീതി
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        D:-Weighted average method
െവയ്�ഡ് ആവേറജ് രീതി
        Correct Answer:- Option-B
Question90:-Favourable balance as per cash book means
ക�ാഷ് ��് �കാരം അ��ലമായ ബാലൻസ്
        A:-Debit balance in bank column of cash book
ക�ാഷ് ��ിൻെറ ബാ�് േകാള�ിൽ െഡബി�് ബാലൻസ്
        B:-Debit balance in the pass book
പാസ് ��ിെല െഡബി�് ബാലൻസ്
        C:-Credit balance in the bank column of cash book
ക�ാഷ് ��ിൻെറ ബാ�് േകാള�ിൽ െ�ഡി�് ബാലൻസ്
        D:-None of these
ഇെതാ�മ�
        Correct Answer:- Option-A
Question91:-A draws bill on B for Rs.60,000 for 3 months on 01/4/2023 which was accepted by B on 02/04/2023. On 02/05/2023 A got this bill
discounted at 12% rate. The amount of discount will be
A 01/014/2023-ന് 3 മാസേ��് 60,000 �പ�് B-ൽ ബിൽ എ���, അത് 02/04/2023-ന് B അംഗീകരി�. 02/05/2023-ന് A ഈബി�ിന് 12% നിര�ിൽ കിഴിവ് ലഭി�. കിഴിവ്
�ക
        A:-Rs.1,600
�.1,600
        B:-Rs.1,200
�.1,200
        C:-Rs.600
�.600
        D:-Rs.800
�.800
        Correct Answer:- Option-B
Question92:-Goods worth Rs.5000 were supplied to X at an invoice price of 20% above cost and allowed trade discount at 10% on invoice price. At
what price were the goods sold to X?
5000 �പ വില�� സാധന�ൾ X-ന് 20% വിലയിലധികം ഇൻേവായ്സ് വിലയിൽ വിതരണം െച�ക�ം ഇൻേവായ്സ് വിലയിൽ 10% േ�ഡ് കിഴിവ് അ�വദി�ക�ം െച�. X-ന് എ�്
വില�ാണ് സാധന�ൾ വി�ത്?
        A:-Rs.5,400
�.5,400
        B:-Rs.5,500
�.5,500
        C:-Rs.5,625
�.5,625
        D:-Rs.6,600
�.6,600
        Correct Answer:- Option-A
Question93:-Sale of old furniture is wrongly transferred to sales account. Which type of error is this?
പഴയ ഫർണി��ക�െട വിൽ�ന െത�ായി െസയിൽസ് അെ�ൗ�ിേല�് മാ��. ഇത് ഏത് തര�ി�� പിശകാണ്?
        A:-Compensating error
പിഴവ് പരിഹരി��
        B:-Error of omission
ഒഴിവാ�ിയതിെല പിശക്
        C:-Error of principle
�ിൻസി�ിളിൻെറ പിശക്
        D:-Error of Commission
ക�ീഷൻെറ പിശക്
        Correct Answer:- Option-C
Question94:-Damaged Inventory should be valued at
േകാടായ സാധന��െട �ല�ം കണ�ാ��ത്
        A:-Cost
െചലവ്
        B:-Current Cost
നിലവിെല െചലവ്
        C:-Current market value
നിലവിെല വിപണി �ല�ം
        D:-Net realizable value
െമാ�ം റിയൈലസബിൽ �ല�ം
        Correct Answer:- Option-D
Question95:-During 2019-20 B Ltd. purchased a printing machinery and made the following payments in relation to it.
Cost as per suppliers list      :     Rs.6,30,000
Less agreed discount           :     Rs.30,000
Balance                              :     Rs.6,00,000
Delivery charge                   :     Rs.15,000
Errection Charge                  :     Rs.15,000
Annual maintenance charge  :     Rs.25,000
Additional spares to increase
Capacity of the machine       :      Rs.40,000
Annual insurance premium   :     Rs.10,000
Assume depreciation at the rate of 10% p.a. as per Written down value method. Depreciation for the Third year is

2019-20 കാലയളവിൽ B ലിമി�ഡ് ഒ� �ിൻറിംഗ് െമഷിനറി വാ�ക�ം അ�മായി ബ�െ��് താെഴ�റ�� േപെ�ൻ�കൾ നട�ക�ം െച�.
വിതരണ�ാ�െട പ�ിക �കാരം െചലവ് - �. 6,30,000 �പ
�റവ് സ�തി� കിഴിവ്            - 30,000 �പ
ബാലൻസ്                                    - 6,00,000 �പ
െഡലിവറി ചാർജ്                       - 15,000 �പ
എറ�ൻ ചാർജ്                          - 15,000 �പ
വാർഷിക െമയിൻറനൻസ് ചാർജ്   - 25,000 �പ
വർ�ി�ി�ാൻ അധിക െ�യ�കൾ യ��ിൻെറ േശഷി - 40,000 �പ
വാർഷിക ഇൻ�റൻസ് �ീമിയം - 10,000 �പ
10% p.a. എ� നിര�ിൽ �ല��കർ� അ�മാനി�ക. എ�തിയ �ല�ം രീതി �കാരം ��ാം വർഷേ��ാണ് �ല��കർ�
        A:-Rs.51,840
�.51,840
        B:-Rs.54,270
�.54,270
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        C:-Rs.50,295
�.50,295
        D:-Rs.57,105
�.57,105
        Correct Answer:- Option-B
Question96:-The balance in the books of a sole proprietor were:
Opening stock Rs.17,000, Purchases Rs.52,000, Wages Rs.46,500, Fuel Rs.15,000, Sales Rs.1,45,000, Closing Stock Rs.25,000 whose net realizable
value was Rs.28,000. Find the Gross profit.
ഒ� ഏക ഉടമ�ൻെറ ��ക�ളിെല ബാലൻസ്:
ഓ�ണിംഗ് േ�ാ�് 17,000 �പ, പർേ�സ് 52,000 �പ, േവതനം 46,500 �പ, ഇ�നം 15,000 �പ, െസയിൽസ് 1,45,000 �പ, േ�ാസിംഗ് േ�ാ�് 25,000 �പ, അതിൻെറ
െമാ�ം യഥാർ� �ല�ം 28,000 �പ. െമാ� ലാഭം കെ��ക.
        A:-Rs.39,500
�.39,500
        B:-Rs.42,500
�.42,500
        C:-Rs.54,500
�.54,500
        D:-Rs.57,000
�.57,000
        Correct Answer:- Option-A
Question97:-The revised Accounting Standard-2 (Valuation of Inventories) permits which of the following method for computation of cost of
inventory?
���ിയ അെ�ൗ�ിംഗ് �ാൻേഡർഡ്-2 (ഇൻെവൻററിക�െട �ല�നിർ�യം) ഇൻെവൻററി�െട െചലവ് കണ�ാ��തിന് താെഴ�റ�� ഏത് രീതിയാണ്?
        A:-LIFO
LIFO
        B:-Standard Cost method
�ാൻേഡർഡ് േകാ�് രീതി
        C:-Market rate
മാർ��് നിര�്
        D:-FIFO
FIFO
        Correct Answer:- Option-D
Question98:-Accounting Standards refers to specific accounting
അെ�ൗ�ിംഗ് �ാൻേഡർ�കൾ നിർ�ി� അെ�ൗ�ിംഗിെന �ചി�ി��
        A:-Principles
തത��ൾ
        B:-Methods of applying those principles
ആ ത���ൾ �േയാഗി��തി�� രീതികൾ
        C:-Both (1) and (2)
(1) ഉം (2) ര�ം
        D:-None of these
ഇെതാ�മ�
        Correct Answer:- Option-C
Question99:-Opening Stock Rs.69,500, Closing stock Rs.83,500, Sales less return Rs.1,60,000, Purchases Rs.1,10,000. The gross profit margin on
sales would be
ഓ�ണിംഗ് േ�ാക് 69,500 �പ, േ�ാസിംഗ് േ�ാ�് 83,500 �പ, വിൽ�ന �റവ് വ�മാനം 1,60,000 �പ, വാ��കൾ 1,10,000 �പ. വിൽ�നയിെല െമാ� ലാഭം _____ ആയിരി�ം.
        A:-35%
35%
        B:-40%
40%
        C:-30%
30%
        D:-45%
45%
        Correct Answer:- Option-B
Question100:-A firm earned an operating profit of Rs.70,000 during a year. Its non operating expenses were Rs.40,000 and non operating incomes
were Rs.7,000. Calculate the amount of net profit.
ഒ��ാപനം ഒ� വർഷ�ിനിെട 70,000 �പ �വർ�ന ലാഭം േനടി. ഇതിൻെറ �വർ�േനതര െചലവ് 40,000 �പ�ം �വർ�േനതര വ�മാനം 7,000 �പ�ം ആയി��.
അ�ാദായ�ിൻെറ അളവ് കണ�ാ�ക.
        A:-Rs.37,000
�.37,000
        B:-Rs.30,000
�.30,000
        C:-Rs.23,000
�.23,000
        D:-None of these
ഇെതാ�മ�
        Correct Answer:- Option-A

Home Page http://192.168.1.6/dept/modules/marklist/answe...

15 of 15 Tuesday 11 June 2024 10:53 AM


